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GBS HERBRNEERS



HBEREBERE

REMER

N | & Al fasR (mg /L) C O D(meg/L)
COD | T-N | T-P 5 15 20 25

1 |FRYL 2.8 042 | oo14 |[HM

2 [REH L 33 066 | o014 [N

3 |[KHFL 49 066 | 0028 [N

4 | KINF L 3.4 091 | o013 [H

S ESA 2.8 13 | o031 [N

6 |FAAS L 2.8 086 | 0027 [

7 |RBY L 3.1 083 | o014 [H

8 |ABHL 43 088 | 0027 [N

9 |EHS L 8.2 19 0002 [IEIIN

10 |FFhstifRa| 65 1.1 0075 [N

11 |FFRiihR | 23 1.6 0095 [Il

12 | B4 L 3.1 1.2 0023 [

13 |E3H4 L 2.8 1.2 oot [

14 |B)IIA L 45 062 | o031 [N

15 | RS L 55 084 | o032 [

16 |4 L 5.5 058 | oo3i |

17 |E@AS L 5.4 053 | 0064 [N

18 |t 1.5 077 | o017 W

19 |/NB&it 2.3 035 | ooos [H

20 |B3lit 3.4 052 | 0013 [H

21 | R 40 - - [

22 |FiEhEm)| 8.2 035 | 0020 [N

23 |EfTity 9.9 - -

24 |HEHM 17 . R A S S

25 | Bt 39 093 | oo13 (I

26 |)IIREstn 26 047 | oote [N

27 |E@ith 18 1.6 o2 [N

28 | AR 26 29 o.1o | NS S S S N

29 |mmrweam| 83 10 0074 [IEIN

30 | B3R 19 3.1 .19 (IR

31 Bt 13 2.0 012 [N

32 |FhEmm)| 85 0.92 0046 [N

33 |4t 3.0 015 | 0005 [H

34 |t 6.6 1.1 0044 [N

35 (ARt 6.6 054 | 0025 |HENN

36 |t 6.4 13 0049 [N

37 |t 9.7 1.3 013 [N

38 |SASH | 74 1.1 0079 |

39 |fEEF 22 3.2 020 (BTSN

40 |Fith 16 2.6 021 (RN

41 |[RBRAM 7.3 062 | oos0 |[HIEIN

42 Bt 75 097 | o044 |[HNDEEN

43 |#E:th 9.7 0.78 0020 [N

44 |k St 4.1 0.68 0.007 !




No. Z 5ﬂ'lm-¥|n%(mg/L) C O D(mg/L)

' CoD | T-N [ T—P 5 10 15 20 25 30 35
45 |dbgeith 9.4 1.7 0097 (IR i

46 [FR 11 13 0061 [INEIEN

47 | RLEBYE 28 3.9 047 NN N N D S
48 | Lith 42 0.83 0045 [

49 | R 16 - - IR

50 |Eith 15 18 24 [

51 |EiEFit 16 2.2 043 (RN

52 |EXits 27 3.6 03¢ |
53 |8 Tith 9.4 13 0085 [N

54 |=ith 15 14 012 [

55 |E Mt 6.6 086 | 0067 |[NNNNEN

56 |7 o)Al 5.4 11 0041 [N

57 Bk 9.6 14 0064 |

58 |@t 2 | 50 | 025 |DINNN RN

59 |t/ 14 - - [

60 | 8Rith 5.8 - -

61 [seamssm| 88 - - I

62 | —DHM 15 - - e

63 |itn 12 - -

64 [HLLth 22 072 | ooos [

65 |25t 5.0 14 0043 |

66 | = RERh 5.7 070 | oo20 [HINE

67 [z At 75 061 | oo20 |[DDNEN _

68 [t 5.6 068 | oors [N |




